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Angle Formulas and Solving Trig Equations Practice 1

Part I: Evaluate the following trig ratios using the appropriate sum or difference forni::la.

1. sin(105°) 2. cos(285°) 3. tan{=75°)
4. sin(-= 5. cos(to 6. tan(>s
- sin(=3) . cos(=;) - tan(3)
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Part Il: Evaluate the following trig ratios using the double or half angle formula.
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1. sin(165°) 2. cos(120°) 3. tan(?)
Part lll. Evaluate the following trig ratios if sinu = —% wherenm < u < 3;” and tanv = ;;,,2-1 whereg <v <.
Draw 2 triangles and label.sine, cosine and tangent for each. — & ?_L_L
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1. cosu 2. sin(2u) 3 tan(g)
4. sinv 5. cos(2v) 6. tan(g)
7. cos(u + v) 8. sin(u +v) 9. tan(u + v)
10. cos(v — u) 11. sin(u —v) 12. tan(v — u)

13. sec(2u) 14. csc(v —u) 15. cot:(g)
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